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TIHY BRZIC PHRiIE

FIRETLY» HALVE vOU MOTICED THAT SETTIMG UF THE ARPAY TO A CERTAIMN ALUE ALMAYTS
FEEME TO TAKE /A LOME TIME. WELL IF vOu HAVE THE 2K Timy BRSIcs vOU CAM MANE
WEE OF THE MO CcoMmenn TO SET THE ARRAY EY A MACHIME CODE LUFE COFY. THIZS ZHORT
EUEROUTIME CCOURTESY OF HOWARDY! MAKES FULL USE OF THIE FACILITYY &MD EVEM
ALLOKMSE SETTIMS FRRTS 0OF THE AREST .
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AL=0 WHEM USIHGE THE MACHIME CODE FACILITIES OF TheE =K Tiwv BARSICs =OME HEAT
TRICKES MITH THE MCI anp FMCF comMmManDs ARE FOSSIEBELE. OME IS TO FIND THE LEMSTH
oF L AaFTER A MCI tHFUT.

E-EBEA=IC V1.1
Ok
FLIET
10 FEM TO FIMD L WHEM UZIMG AM MCI COMMHEMD
20 REM et T S S e L L
S REM ZET L AHD M AE IM THE MARHURL AMD INFUT THE ZTRIMG
40 L. L=20s M=1c000sr MCI
i REM HOW FIMD THE REARL LEMGETH OF L
a0 M=p+l-1
TOOoMCLs IF M=3Z2 L. L=L-1» HM=M-2§ G.70
=20 RERM L I% MO EiAL 7O THE LEMGTH OF THE =ZTRIHMDG
0k

FIIRTHER? KHHEM USIrG MULTIFLE STRIMEZ THE ARRRAY MAY EBEE USED TO KEEF TRACH
OF THE ADDRESZEZ AMD LEMNGTHE OF THE Z=ZTRIRMGCES.
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